Signal and acceptance

*bin by bin counting

0-10%

| >1, IdI>6
chi2topo<5,
chi2ndf<2.2
chi2prim_pi>5
chi2zprim_he>0

pt_pi>0.1

0-40%

| >1, IdI>6
chi2topo<5,
chi2ndf<2.2
chi2prim_pi>5
chi2zprim_he>0

pt_pi>0.1

*g : _._‘ SE r | | {‘é g - | ]
3600 :— 1 1 ] i g r “ SE-scaled RB |
8 —RB Jflﬂl +0 o#ﬁ#ﬁ%w%%ﬁ}ﬁ% ': o 1 00 — =-guastlinear ﬁti
5000 | ﬁgvhﬁ | E i
: W ] 3
400 ' 4 50 *
§ ! ]
g §H+Jf+ 1
300~ ¥ k ,
i it o
20- 1 o T * *
ro i —50|- o= .0019{
1 00?*3%0;{%0% 7 | mean=29815 * +
Lt ] | s/Vs+B=7.0
o365 30z -100fyeessme  0-10%
Mass( 3Hen) (GeV/CZ) 2.97 2.98 2.99 3 3.01 3.02
Mass( *Her) (GeV/c?)
%) T T T B c M - ]
o B ' 7 : C ]
= I —+SE {,’ = 250} -8 SE-scaled RB_i
a 400 r b Hﬁ# % i }'}Q% 8 E * =-guas+linear fit
o - + %ﬁ%ﬂﬁﬁ%ﬁ%ﬁe Fely HH 1 2000 g E
1200[ t{y Gl . .
2 0002 he 150F =
n ¥ — s ]
g gﬁ* 1001 * -
800 r - E 1
- & 50¢ +
600}~ g . | !
. i Xill
00; gﬁoéf E -50- j;an =29916 £ E
2001 gses"} 1 _100k & VsB=7.7 =
;sat&?i | [ | E 1 00; yield = 896.37 | Q‘ 0 % ]
029 208 3 302 2907 298 299 3 301 3C

Mass( *Her) (GeVic?)

Mass(*Her) (GeV/c?)

yulou

4.5

P, (GeV/c)

W A

IIIlIItII|IIII|IIII|iIIl|IIII|II1I|iIII1IIII1IIII

0.5
0

p. (GeVic)

T

0.5

...........................................................................................................................

IIII|IlII|IIII|lIII|lIII|IIII|IIII IIII1IIII1IIII

10~

10



Signal and acceptance

eintegral
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About integral method
«fit function:gausn(0)*[3]+pol1(4)

signal yield :fit function’s first parameter

bin by bin counting
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ssignificance :fit function’s first parameter over error of fit function’s first parameter
About bin by bin counting method
ofit function:[1]*exp(-(x-[0])*(x-[0])/2/[2)/[2]) + [3]+[4]*X
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Signal with different pt and y ranges (three y ranges)

*Cen:0-10%.

*the mass window in each y_pt bin :fitmean-3*fitsigma<particlemass<fitmean+3*fitsigma

ofit function:gaus+line

bin by bin counting(black line)
*Fix fitmean range(guided by 0-40%)
(mean-sigma,mean+sigma)
Fix fitsigma(guided by 0-40%)

eintegral method(red line)
*Fix fitmean range(guided by 0-40%)
(mean-sigma,mean+sigma)
*Fix fitsigma(guided by 0-40%)
(sigma-0.0002,sigma+0.0002)

-1.2<y<-1.0

-1.0<y<-0.7

-0.7<y<-0.2
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spectra

*Cen:0-10%.

eyield:bin by bin count(ethe mass window in each y_pt bin is the same as that of no y_pt binning)
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Signal with different pt and y ranges (two y ranges)

*Cen:0-10%.
*the mass window in each y_pt bin :fitmean-3*fitsigma<particlemass<fitmean+3*fitsigma
ofit function:gaus+line —— ‘ —
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spectra

*Cen:0-10%.
eyield:bin by bin count(ethe mass window in each y_pt bin is the same as that of no y_pt binning)
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